bre

Environmental Product Declaration

BREG EN EPD No.: 000045 Issue: O1
ECO EPD Ref. No.: 000154

This is to certify that this verified Environmental Product
Declaration provided by:

PPG Architectural Coatings UK Limited

s in accordance with the requirements of:
EN 15804:2012+A1:2013

This declaration is for:
Johnstone’s Jonmat Premium Contract Matt

Company Address
Huddersfield Road, JOHNSTONE'S

TRADE
Birstall, Batley
WF17 9XA P )
ecological

Solutions from pi

To r 7
JOHNSTONES et 1IN,
. TRADE )
PAINT TO BE PROUD OF
Derek Hughes 27 March 2015
Signed for BRE Global Ltd Operator Date of this Issue
27 March 2015 26 March 2020
Date of First Issue Expiry Date
This verified Environmental Product Declaration is issued subject to terms and
conditions (for details visit www.greenbooklive.com/terms).
To check the validity of this EPD please visit www.greenbooklive.com/check or
contact us. EN 15804 VERIFIED

BRE Global Ltd., Garston, Watford WD25 9XX.
T: +44 (0)333 32188 11 F: +44 (0)1923 664603 E: Enquiries@breglobal.com

BF1331ECOP Rev 0.2 Page 1 of 11 © BRE Global Ltd 2015




bre

EPD verification and LCA details

Demonstration of Verification

CEN standard EN 15804 serves as the core PCRa

Independent verification of the declaration and data according to EN ISO 14025:2010

I:l Internal External

Third party verifierb:
Dr Owen Abbe

a: Product category rules
b: Optional for business-to-business communication; mandatory for business-to-consumer communication (see EN ISO 14025:2010, 9.4)

LCA Consultant Verifier

Matthew Percy Dr Owen Abbe

PPG Coatings BV BRE Global

Amsterdamseweg 14 Bucknalls Lane

Uithoorn Watford

1422 AD, Netherlands WD25 9XX
www.bre.co.uk

EPD Number: BREG EN EPD 000045 Date of issue: 27 March 2015 Expiry Date: 26 March 2020
BF1331ECOP Rev 0.2 Page 2 of 11 © BRE Global Ltd 2015




bre

General Information

Summary

This environmental product declaration is for 1 square metre of Johnstone’s Jonmat Premium Contract Matt produced by PPG
Architectural Coatings UK Limited at the following manufacturing facilities:

PPG Architectural Coatings UK Limited
Huddersfield Road,

Birstall, Batley
WF17 9XA
UK

This is a Cradle to gate with options EPD. The life cycle stages included are as shown below (X = included, MND = module
not declared):

A1 A2 | A3 A4 A5 B1 B2 B3 B4 B5 B6 B7 Cc1 C2 C3 C4 D
>
Q. >
Q. (o)) —
O (o]

2 e g |5 c £ 52
» [)) D 1 = ]
3 2l ° | ¢ @ | & |¥ |2 g @ 3's
= 5 = O < Q ) € © o] o 5] g9
2 k= = = 5o & 1S < c c 2 k= =4 _ x O _
© [} 3 9] S s c 9} @ kel k) 3 9] a T A
1S F = Qo 58 3] = 1 s} T 5 c o o @ .=

5 N h = - © © = © © o 7] - ] »nw O ¢
51 e|&| & |88 8 |s|8| 8| % [88|8s|8 68|82 g2 <
| F | = = o= S = o o x |[0Oo|08| o | F | 2|0 r&a
X X X X X MND [ MND | MND | MND | MND | MND | MND [MND| X MND | X MND

Programme Operator

BRE Global, Watford, Herts, WD25 9XX, United Kingdom.
This declaration is based on the BRE Environmental Profiles 2013 Product Category Rules for Type Ill environmental product
declaration of construction products to EN 15804:2012+A1:2013.

Comparability

Environmental declarations from different programmes may not be comparable if not compliant with EN 15804:2012+A1:2013.
Comparability is further dependent on the product category rules used and the source of the data, e.g. the database. See EN
15804:2012+A1:2013 for further guidance.

Construction Product

Product Description

Johnstone’s Jonmat is a matt emulsion formulated for interior use on walls and ceilings. It provides an obliterating, permeable
finish that is ideal for new plaster.

Technical Information

Property Value Unit
Spreading rate 13 m?2/L

Time to touch dry 1-2 Hours
Time to recoat 3-4 Hours

VOC content Low (0.3 - 7.99) %

EPD Number: BREG EN EPD 000045 Date of issue: 27 March 2015 Expiry Date: 26 March 2020

BF1331ECOP Rev 0.2 Page 3 of 11 © BRE Global Ltd 2015




bre

Product Contents

Material/Chemical Input %
Additives <2
Binder <5
Inorganic Materials 35-40
Water 55-60
Glycols and esters <1

Manufacturing Process

The manufacturing process involves the mixing and dispersing of raw materials into a homogeneous mixture. The product is

then packaged for distribution to the customer.

The process flow diagram is shown below:

Water

Additives

Fillingand

Dispersion packing

EPD Number: BREG EN EPD 000045
BF1331ECOP Rev 0.2

Date of issue: 27 March 2015
Page 4 of 11

Application

. 1 j
@0 ~'00=-0
Transport

Expiry Date: 26 March 2020
© BRE Global Ltd 2015




All surfaces should be sound, clean, dry and free from grease. Remove any crazed or flaking paint.

Stir well before use and apply by brush, roller or paint pad. When using a roller, use a medium pile synthetic type. Apply
liberally and evenly; avoid overspreading. Do not apply when air or surface temperature is less than 10°C or in damp
conditions. If more than one can of colour is to be used in the same area, intermix before use.

The reference service life of the product is highly dependent on the conditions of use.

Coatings are often not removed, so the end of life the product is that of the end of life of the underlying substrate. For interior
wall paint on a mineral surface this is often landfill.

Protecting and decorating 1m? of substrate, suitably prepared, on the basis of one layer of the product.

The system boundaries of the product LCA follow the modular design defined by /EN15804/. This cradle-to-gate with options
study includes the Product stage (A1-A3), Transport stage (A4), Installation stage (A5), End-of-life transport (C2) and Disposal
(C4).

Data related to in-house PPG processes has been collected from PPG reporting systems and is of high quality.

For life cycle modelling of the process, SimaPro V.8.0.3 is used. All relevant background datasets are taken from Ecoinvent
V3.01 database and are documented in supporting Ecoinvent documentation.

Many Ecoinvent processes, such as waste disposal, are multi-input and not just for the material specified. For these
processes the allocation used for the material in question is the one specified in the Ecoinvent process.

Allocation of waste to reuse and waste disposal streams is made on the basis of recent data from reliable sources.

Cut off criteria are:
1% of the renewable and non-renewable energy usage
1% of the mass of the process under consideration

The total neglected flows shall be no more than:
5% of the energy usage
5% of the total mass

EPD Number: BREG EN EPD 000045 Date of issue: 27 March 2015 Expiry Date: 26 March 2020
BF1331ECOP Rev 0.2 Page 5 of 11 © BRE Global Ltd 2015



(INA = Indicator not assessed, AGG = Aggregated, NA = Not Applicable)

Environmental impacts per declared/functional unit

GWP kg CO: eq. 0.0624 0.00996 0.0254 INA 0.00355 0.0277 INA INA INA
ODP kg CFC 11 eq.| 8.64E-09 | 6.65E-10 1.33E-09 INA 2.37E-10 4.77E-10 INA INA INA

AP kg SO2 eq. | 0.000367 | 5.45E-05 0.000101 INA 1.94E-05 7.40E-05 INA INA INA

EP kg (PO4)* eq.| 0.000162 | 1.28E-05 3.05E-05 INA 4.55E-06 5.09E-05 INA INA INA
POCP kg C2Ha eq. | 6.62E-05 | 5.52E-06 1.77E-05 INA 1.97E-06 1.30E-05 INA INA INA
ADPE kg Sb eq. 4.22E-06 | 2.12E-08 6.08E-07 INA 7.54E-09 2.02E-07 INA INA INA
ADPF MJ eq. 0.951 0.144 0.555 INA 0.0511 0.42 INA INA INA

GWP = Global Warming Potential (Climate Change); ODP = Ozone Depletion Potential; AP = Acidification Potential for Soil and Water; EP =
Eutrophication Potential; POCP = Photochemical Ozone Creation; ADPE = Abiotic Depletion Potential — Elements; ADPF = Abiotic Depletion
Potential — Fossil Fuels

Resource use

PERE MJ 0.000752 0.00 8.37E-07 INA 0.00 7.53E-06 INA INA INA
PERM MJ 0.0105 0.00 0.189 INA 0.00 0.00233 INA INA INA
PERT MJ 0.0112 0.00 0.189 INA 0.00 0.00234 INA INA INA
PENRE MJ 0.943 0.145 0.443 INA 0.0515 0.28 INA INA INA
PENRM MJ 0.128 0.00 0.177 INA 0.00 0.187 INA INA INA
PENRT MJ 1.07 0.145 0.62 INA 0.0515 0.467 INA INA INA
SM kg 0.00 0.00 0.00 INA 0.00 0.00 INA INA INA
RSF MJ 0.00 0.00 0.00 INA 0.00 0.00 INA INA INA
NRSF MJ 0.00 0.00 0.00 INA 0.00 0.00 INA INA INA
FW m? 0.000994 | 5.55E-06 0.00015 INA 1.98E-06 0.000148 INA INA INA

PERE = Use of renewable primary energy excluding renewable primary energy resources used as raw materials; PERM = Use of renewable
primary energy resources used as raw materials; PERT = Total use of renewable primary energy resources; PENRE = Use of non-renewable
primary energy excluding non-renewable primary energy resources used as raw materials; PENRM = Use of non-renewable primary energy
resources used as raw materials; PENRT = Total use of non-renewable primary energy resources; SM = Use of secondary material; RSF = Use
of renewable secondary fuels; NRSF = Use of non-renewable secondary fuels; FW = Net use of fresh water

Waste to disposal

HWD kg 0.0173 1.09E-05 0.000555 INA 3.87E-06 0.000889 INA INA INA
NHWD kg 0.0256 0.000227 0.00822 INA 8.07E-05 0.0109 INA INA INA
TRWD kg 3.00E-06 | 8.47E-07 1.16E-06 INA 3.01E-07 3.83E-07 INA INA INA
RWDHL kg 3.60E-07 | 3.10E-09 1.43E-07 INA 1.10E-09 4.81E-08 INA INA INA

HWD = Hazardous waste disposed; NHWD = Non-hazardous waste disposed; TRWD = Total Radioactive waste disposed; RWDHL =
Radioactive waste disposed (high-level nuclear waste)

Other output flows

CRU kg 0.00 0.00 0.00 INA 0.00 0.00 INA INA INA
MFR kg 0.00 0.00 0.000323 INA 0.00 0.00495 INA INA INA
MER kg 0.00 0.00 0.000405 INA 0.00 0.00521 INA INA INA
EE MJ 0.00 0.00 0.00 INA 0.00 0.00 INA INA INA

CRU = Components for reuse; MFR = Materials for recycling; MER = Materials for energy recovery; EE = Export energy

EPD Number: BREG EN EPD 000045 Date of issue: 27 March 2015 Expiry Date: 26 March 2020
BF1331ECOP Rev 0.2 Page 6 of 11 © BRE Global Ltd 2015



(INA = Indicator not assessed, AGG = Aggregated, NA = Not Applicable)

Environmental impacts per declared/functional unit

GwWpP kg CO: eq. INA INA INA INA INA 0.000138 INA 0.000425 INA
ODP kg CFC 11 eq. INA INA INA INA INA 9.19E-12 INA 1.03E-11 INA

AP kg SO: eq. INA INA INA INA INA 7.53E-07 INA 7.15E-07 INA

EP kg (PO4)* eq. INA INA INA INA INA 1.77E-07 INA 1.59E-05 INA
POCP kg C2Ha eq. INA INA INA INA INA 7.63E-08 INA 1.63E-07 INA
ADPE kg Sb eq. INA INA INA INA INA 2.93E-10 INA 1.48E-09 INA
ADPF MJ eq. INA INA INA INA INA 0.00198 INA 0.00256 INA

GWP = Global Warming Potential (Climate Change); ODP = Ozone Depletion Potential; AP = Acidification Potential for Soil and Water; EP =
Eutrophication Potential; POCP = Photochemical Ozone Creation; ADPE = Abiotic Depletion Potential — Elements; ADPF = Abiotic Depletion
Potential — Fossil Fuels

Resource use

PERE MJ INA INA INA INA INA 0.00 INA 0.00 INA
PERM MJ INA INA INA INA INA 0.00 INA 0.00 INA
PERT MJ INA INA INA INA INA 0.00 INA 0.00 INA
PENRE MJ INA INA INA INA INA 0.002 INA 0.00265 INA
PENRM MJ INA INA INA INA INA 0.00 INA 0.00 INA
PENRT MJ INA INA INA INA INA 0.002 INA 0.00265 INA

SM kg INA INA INA INA INA 0.00 INA 0.00 INA

RSF MJ INA INA INA INA INA 0.00 INA 0.00 INA
NRSF MJ INA INA INA INA INA 0.00 INA 0.00 INA

FW m? INA INA INA INA INA 7.67E-08 INA 2.59E-06 INA

PERE = Use of renewable primary energy excluding renewable primary energy resources used as raw materials; PERM = Use of renewable
primary energy resources used as raw materials; PERT = Total use of renewable primary energy resources; PENRE = Use of non-renewable
primary energy excluding non-renewable primary energy resources used as raw materials; PENRM = Use of non-renewable primary energy
resources used as raw materials; PENRT = Total use of non-renewable primary energy resources; SM = Use of secondary material; RSF = Use
of renewable secondary fuels; NRSF = Use of non-renewable secondary fuels; FW = Net use of fresh water

Waste to disposal

HWD kg INA INA INA INA INA 1.50E-07 INA 3.70E-06 INA
NHWD kg INA INA INA INA INA 3.13E-06 INA 0.00967 INA
TRWD kg INA INA INA INA INA 1.17E-08 INA 1.27E-08 INA
RWDHL kg INA INA INA INA INA 4.28E-11 INA 2.10E-10 INA

HWD = Hazardous waste disposed; NHWD = Non-hazardous waste disposed; TRWD = Total Radioactive waste disposed; RWDHL =
Radioactive waste disposed (high-level nuclear waste)

Other output flows

CRU kg INA INA INA INA INA 0.00 INA 0.00 INA
MFR kg INA INA INA INA INA 0.00 INA 0.00 INA
MER kg INA INA INA INA INA 0.00 INA 0.00 INA
EE MJ INA INA INA INA INA 0.00 INA 0.00 INA

CRU = Components for reuse; MFR = Materials for recycling; MER = Materials for energy recovery; EE = Export energy

EPD Number: BREG EN EPD 000045 Date of issue: 27 March 2015 Expiry Date: 26 March 2020
BF1331ECOP Rev 0.2 Page 7 of 11 © BRE Global Ltd 2015




Vehi Fuel Consumption Distance C.apac!ty LErsls O
ehicle Type (L/km) (km) Utilisation Product
(%) (kg/m?)
Heavy goods vehicle 0.320 300 50 1350
Parameter Description Unit Value
Ancillary materials for installation Roller for application g 213
Ancillary materials for installation Polypropylene sheets for spills protection g 2.28
Waste materials from installation Disposal of paint lost during application g 1.04
wastage )
Waste materials sorted on site for
recycling, energy recovery, disposal Disposal of roller g 213
(specified by route)
Waste materials sorted on site for
recycling, energy recovery, disposal Disposal polypropylene sheeting g 2.28
(specified by route)
Waste materials sorted on site for Disposal of primary packaging -
recycling, energy recovery, disposal polypropylene (Assume: 61% landfill, g 4.09
(specified by route) 31% incineration)
Waste materials sorted on site for Disposal of cardboard packaging
recycling, energy recovery, disposal (Assume: 86% recycling, 9% landfill, 5% g 1.85
(specified by route) incineration)
Waste materials sorted on site for Disposal of polyethylene wrap (Assume:
recycling, energy recovery, disposal 61% landfill, 31% incineration) ) g 0.0512
(specified by route) ’
Parameter Description Unit Value
W i . Wall paint coating as part of demolition
aste for final disposal . g 46.3
waste sent to landfill
Vehi Fuel Consumption Distance C?Pac!ty LETElET o
ehicle Type (L/km) (km) Utilisation Product
(%) (kg/m?)
Heavy transport vehicle 0.320 30 50 2430

Analysis of the relative contributions of each Module shows that most of the impact comes from the raw materials stage (A1)
for most of the indicators (Figure 1). This high contribution of raw materials to the impact indicators is not unexpected. As

paints are at the end of the chemical value chain much of the expenditure of energy, raw materials, processing, waste
processing, etc. in bringing the product to existence has occurred prior to the entry of the raw materials onto the PPG

production site.

A further breakdown of the contribution of the different raw material types to environmental indicators in Module A1 shows that
the majority of each impact comes from the titanium dioxide and the binder (Figure 2). This is typical for coatings products and
not unexpected given these two raw materials are often present in high proportions and have a relatively high environmental
impact.

Analysis of Module A3 shows the factors which contribute to this portion of the impact (Figure 3). As can be seen the majority
of the impact for this module comes from the packaging for the product (including raw materials, processing and transport to
PPG production site), and not the production process itself. This is expected as paint is a formulated product. The production
process is mixing, dispersing, and some grinding, and does not comprise energy intensive processes such as heating or
cooling that would be required for chemical reaction processes. Hence the contribution from PPG the PPG factory to the
environmental impact is low.

EPD Number: BREG EN EPD 000045
BF1331ECOP Rev 0.2

Date of issue: 27 March 2015
Page 8 of 11

Expiry Date: 26 March 2020
© BRE Global Ltd 2015



re

A EN ESEP

. & & . & N A & o
& & & q,’b\o é\é\ 3@‘? (\q’& o"& & & & & N
\‘\ﬁ R Qb 6(\‘ & N "c‘-; 60 c\@ &‘: 6\‘7 6\‘1 \é\
& e N &L & o S & & & 5% & =& Na
o° & & <& & & & § & & & @ &
s} & & O o ~ & & & & o &
R & ¢ & & F & & ¥ F &
2 ¥ W o & ¢ < B & & S
& & ) ' & & 3 ¥ » &
S & ® IS & TS & e
& & 06\ \&éo /\o"b RS & <«
© Q &
& * 40
64
H ModuleAl mModuleA2 ®mModuleA3 ®ModuleA4 m®ModuleAS ® ModuleC2 mModuleC4
Figure 1
EPD Number: BREG EN EPD 000045 Date of issue: 27 March 2015 Expiry Date: 26 March 2020

BF1331ECOP Rev 0.2 Page 9 of 11 © BRE Global Ltd 2015




A
S & & ® z° e z ol
< 'b&‘ OQ,Q ob.x\ &\\@ g&'b 3 & P .\° dé\ c\é\ 4\-:\ &ﬁq& b\,_,qd, ,_’Q° é\\&
& & F & ¢ S E € e s &N
oS <° < o RS & 3 3 B e )
&) o Ky ) \0\ & o« &% ~ ‘04' & & & \x\'b
© &£ & &° é{o é(b & 0& q,kb oy W
. &0 &é}\ ’6‘0\ & & & Q@" <@ &.p ) o’é"
(}b Q’(‘o 6\6 & @ & & “ P
& o 0 ,b\‘\\ < s
N R &
& g A
o
BmAddtives mBiocde mFiler mGycols mBnder mTiO2 mWaer
Figure 2
N
N S S e Y A A
3 ¥ ¢ & & & g DY & & ) Q& ) Qd’ . Qd’ N4
& R > N ¢ & £ &° &° & S
& & & K . S é@é 6‘2’6 & ¢ 3 = ¥
¥ a© < & & & & & & & & & &
© (¢} & > & & e e F @ o e >
o & & <& S & & & & Q& -
«© & & &° o & & & & £ &
& & & 3 <® & < < \© £
& & R S & & L N P &
& & &° & @ & & © ®
s & & S 1)0 LS <«
3 R &
g ¢ «
&
W Production Waste M Production Process M Packaging
Figure 3
EPD Number: BREG EN EPD 000045 Date of issue: 27 March 2015 Expiry Date: 26 March 2020

BF1331ECOP Rev 0.2 Page 10 of 11 © BRE Global Ltd 2015




BRE Global. BRE Environmental Profiles 2013: Product Category Rules for Type Ill environmental product declaration
of construction products to EN 15804:2012+A1:2013. PN 514. Watford, BRE, 2014.

BSI. Sustainability of construction works — Environmental product declarations — Core rules for the product category of
construction products. BS EN 15804:2012+A1:2013. London, BSI, 2013.

BSI. Environmental labels and declarations — Type Ill Environmental declarations — Principles and procedures. BS EN
ISO 14025:2010 (exactly identical to ISO 14025:2006). London, BSI, 2010.

BSI. Environmental management — Life cycle assessment — Principles and framework. BS EN ISO 14040:2006.
London, BSI, 2006.

BSI. Environmental management — Life cycle assessment — requirements and guidelines. BS EN ISO 14044:2006.
London, BSI, 2006.

EPD Number: BREG EN EPD 000045 Date of issue: 27 March 2015 Expiry Date: 26 March 2020
BF1331ECOP Rev 0.2 Page 11 of 11 © BRE Global Ltd 2015



